k2446 H29H
N A R
JEESAL, 7811 (PF2054)

T2 456 AHOIAR - HMFLURHBKR (KB FH24F6AH29A8)

AE6 AHOEEBZMR < —MRITHREE D FYHEEEIL667FHAT, FEREIE LN
5 EM2TFA0.3%) BAL., 4FEROBELTY FT,

1 XZ#HRR
(1) XMWAESLVUEEE

2446 H 23456 A SRR g
X5 X XA EE | R
AB | s R) . -
i T Fm| @)
— P 12,244 9,239,704 9,415,673 A175,969 Al9
IR 1 Tk 39 63,600 62,881 719 1.1
& & 12,283 9,303,304 9,478,554| A175,250] AL.8

(2) —ASEYEYZHEEE (FL0HE (EEBR)

24476 H 1 23426 7 1 XTI ik

DTAEE T8 | [amE [ Ay
B = s
P M T | e | T | ek | | e [eeses| D

) G| Em| Em| @ | Fm

R

Ik g2 2,758 667 139 528 40.4 669 A2 A0.3
AR 1,638 669 150 519| 39.4 694 A2 A6
% B8 6,112 776 162 614 43.1 780 A4l A0S

) BUTHOWTIE, THARMZ UG LA LSBT,

2 FrAlEEOD AR

% 4 2446 A 1 2346 A 1] S BITAF LL
XiegE (T XAakE (FH) | S () [ % (%)
pI 2,639 2,639 0 0
Fil] e = 2,071 2,071 0 0
HERE 1,807 1,807 0 0
WEEALER 1,238 1,238 AFREIL) [(BLFRIL)
R 1,847 1,847
RlF#R 1,746 1,746
= 1,583 1,583

() BUTHOWTIE, THARMZ UG LA LSBT,

(B

(&) ZMHAH @A)

(—fisik) CRen! k)
IR i At IR
6 H #i 1.225 (1.225)| 0.675  (0.675) 1.900 (1.900) 6 H 1.400 (1.400)
12H#1 1.375 (1.375) 0.675  (0.675) 2.050 (2.050) 12 H# 1.550 (1.550)
&t 2.600 (2.600)[ 1.350  (1.350) 3.950 (3.950) &t 2.950 (2.950)

() O) IEMEEE DI A BT,



